4 f 5 & E a—F & % 012122 AT R W 1-3 ® A 3 7 bl [ H
. L b0 oB % 5 b L £ # WHB(TR) WAL BRGNS MAL) £ 9 WEE(TH)  MAutos) —menmy BF BURS ERRAE
BRI AERRA s o s | % B 2,208,989 129 2,103,961 26.8| A e ® 1,718,966 10.3 1,519,056 1,465,795 18.5
AT 4 B W W
#oF B 5 B 108,670 0.6 108,670 14 5 v W B & 995500 6.0 995,500 984,443 12.5
A O 3 ES 1 & flFOE XA & 848 0.0 848 0.0f# B % 2,809,067 16.8 948,388 556,863 7.0
2 a R gy AR RTRERAA K 5 1Kk HL2Kr B3R EY X H & 7,852 0.0 7,852 0.1fa i # 1,240,289 7.4 1,205,863 1,205,863 15.3
A 24 (L) 20,114 kni M| 4T 24EER 14,870 a sl 1896 7544 PR RUETTREI A 2 9,038 0.1 9,038 01w = A B E & 1,240,289 7.4 1,205,863 1,205,863 15.3
- T2 (N 22,221 207 84 68 ER2TEER 17,257 A 22 EW ER - B 553,077 3.2 553,077 TO| R —mfEAEAT 0 - 0 0 0.0
B (%) | A 9.5 BEB(%) Al13.8 * 3.3% 19.8% 6%= v 7 K H & 0 0.0 0 0.0 N S 5,768,322 34.5 3,673,307 3,228,521 40.8
g AEER (N 18,405 SR 2HF BN 9,816 A 458 2,200 8,955 OB HOH W OB OB 0 0.0 0 0.0% 1% % 2,083,924 12.5 1,058,346 935,571 11.8
5 MEERO) 18,982 | # W B S M2 F EM 10,402 TR EEA B OB OE o & 0 0.0 0 oo #® W & B 1,137,788 6.8 933,918 198,162 2.5
B OHEE (%) A30 MR =E (%) A5.6 3.3% 20.3% TeAN|B B R E BT KM & 9,137 0.1 9,137 ol B B & 3,052,946 18.3 1,974,215 1,657,540 21.0
X 5 MEE (TH) A%FE (TH) K % B N % |BxAKFORBE|([BEATERSHL 45,976 0.3 45,976 06| PHr—@wHEEGARS 914,982 5.5 842,839 823,894 10.4
1. % A £ A 16,249,208 17,295,185|% % B & # = # 7,188,346 {EBEZS DA A 6,896 0.0 6,896 0.1[# H & 1,506,466 9.0 1,329,708 1,208,908 15.3
R & H #® HB 15,764,347 16,717,891|% # B & W A # 2,271,433| @k # F %X H B 6,059,660 35.0 4,916,913 62.5[% A & 1,359,049 8.1 284,471 0 0.0
BLEBABMEIE ABC 484,861 577,24/ @ % B I A #& 2,822,073| HUTKE W ] 4,916,913 28.4) 4,916,913 62.5(B B -HEL - Bt & 448,217 2.7 284,837 273,390 3.5
X 4 BEE~BBT EMED 14,866 153 B om B M 7,777,925| #E@ILH RO 1] 1,142,747 6.6 0 oo EE MR LKA S 0 0.0 ol @ % & B % u
5.4 ® I ¥ CDE 7 469,995 1 577,141 SHEREHERIT T EERE 3893 | EHEAOMARR|[— & B W H 9,030,143 52.2 7,762,368 987l B M ® £ 1,361,179 8.1 184207 — & M W ¥ &
$ 6.8 & F I XF A 102,474 -7 107,146|8F B 71 48 % (3 2 ) 0.31| fERLEE TEEL2EM & 1,335 0.0 1,335 00 > B A # B 22,921 0.1 22,921 7,502,092
7. ST &G 311,277 235,018/ B W X Kk =* 7.4| HUHETEAEME sy HE&--AH& 19,295 0.1 0 0.0 TEBERFER 1,361,179 8.1 184,207 # # I X R (%)
5 &  F ® ® &nH 0 O % — M MW S 101.1] #47B5 e A B 248,911 1.4 79,014 1.1 " B 730,987 4.4 8,839 94.9
9. %2 & W v B L ®|I 0 ola & # & # i & 15.3| #YEREERLRES T - #t 30,232 0.2 0 00| p P om i 575,802 3.4 174,302 (95.4)
10. £ B W & B I X F+G+H-1 ] 208,803 342,164/s & B K = 5.0 H E X H 4 2,493,793 14.4 ‘ g AE-RE 54,390 0.3 1,066) BA—REIR
- & B B & ( % 1 5 £&# 4 A 1 B B #&# ) |& & % B Kk 13|BA ORI MBET|E F 2 #f#t X & 389 0.0 389 0.0] ® = i 0 0.0 0 7,902,860
X 4 BEE O A s (Fr) B T ANTERTE e g w30 4) 92l% m 3965303 % M & 879,666 5.1 \ BEMEIEE KR 0 — o  SLMBIHTAME
- 8 B A 179 53,363 298,117|fB T B & 4 & M & 97,679|% & 3,180,425[6t E W A 28,991 0.2 18,046 02 HENEHRESR 0 0.0 0 0
(55 B #l 97 B B (0) (0) - b % BMW T 50,398|4~ & 7,145,818|% it & 2,125,304 12.3 55 ey A Bo SRR
%5 F A ¥ A 1 365 3650000 5 & B E =& 11,740,267|% & 516,749|# A & 628,336 3.6 38,939
& @ 180 53,728 298,489 Bt il 1,922,576| F * & 6,846,152|#% @ & 484,861 2.9 (ER B 2817 FTRERR)
SANKNALAEE(SMSE4A18HE) 96.0 Eﬁg B % 129,655\  ifF of=% ) A 364,990 2.1 2,769 0.0 (38,939)
S il PR xmwxs R85 max #EEH 4,086,738 0|4 % & 958,939 5.5
% OB ® O x & I 0 355,197 1,359,886 W+ HERELRES o L 7,362,901 & B 17,295,185 100.0 17,863,921 100.0 =y £ 16,717,891 100.0/ 9,723,009
g X #® ® O x & # = 228,411 103,193 15 E%é& BESHEA 114,307|%2 28 14,508,719| [} # ‘ ‘ B B 8 bl ® . H
e B R % R B ¥ % & 8 & 61,807 163,666 o|uTes € o f 765,936|#% B 26,248,986 X 2 REA(TH) #Rk(%) | #HBR%) %ﬁ%ﬁ, ﬂf}fﬁ%ﬁg = 2 WREB A BEL(%) %"g;gg _ﬂ&ﬁ)ﬁ%
ﬁ B EBREERETEST B 433 426,483 3 K 4 e WARKEAER —ATHRH-#BAE | T B A B % @ 35,019 1.6 Al4 26,642 ol & b4 133,798 0.8 0 133,620
g NERREESF(RREEDE) & 140,047 351,681 ol ® B 1 FHestE4ALH 830,0001] E B s 8l 934,992 41.9 A0S 711,617 o % % 3,615,661 21.6 36,499 1,137,651
2 NBRREEZLKHG-LAEEHE) £ 0 0 olg M W R 1 " 680,000/ g B AW E 86,639 3.9 A1S8 65,406 14,432| & & % 4,189,155 25.1 163,836 1,991,792
M B K %X 2 & 0 80,325 il & #® £ 1 " 580,000/ BE A B @ 59,610 2.7 A 275 44,948 23,433|% g # 2,548,941 15.2 8,502 1,949,607
; T oAk #E ® % & # & 269,755 476,645 1 e 2 & & 1 " 380,000/ B & & B % 746,000 33.5 0.2 575,375 5|% ) b4 14,587 0.1 0 14,587
g EH (EHELTH)ERFERT & 0 7,666 |l & 2 8 & & 1 " 340,000 5% il [ & B BB 712,875 32.0 0.1 550,531 5l # ok E R B 325,899 1.9 127,855 142,413
? M EY - REE S B 0 0 of] # £ & H 12 " 310,000/ B B B B B 44,141 2.0 0.2 33,444 olm T -4 510,370 3.0 152,295 227,113
}g AR EORR(SMS5E£4A8018 8 &) BOE M % 8 40,909 1.8 1,127.0 31,020 o|l+ P % 2,669,379 16.0 737,647 1,767,464
# 1% 60,0000 & 1| £ 3,232 0.1 A 92.1 2,424 ] Bz B5 b4 380,936 2.4 0 370,936
- 2% 144,000| Er A 7 i = B 197,560 8.8 A 16 148,170 # H # 1,044,690 6.2 90,365 737,777
& B 1,055,650 2,969,545 439 P : -
Cm5 3,000 | 4 3% 156,000[8% i3 B 0 0.0 0 o 5 ® | = 0 - 0 0
2 B W X TH 61,807 T f - 4% 180,000|% B £ # £ F B 0 0.0 0 N i # 1,240,295 7.4 0 1,205,869
g ® 2 3 B X +M 34,696/ AT | A ?ﬁf’l 5% 192,000 %N # 2,103,961 94.4 A1.6] 1,605,602 37870[% X H & 44,180 0.3 44,180 44,180
LA O X ix 2,103| H A 6%  480,000[ & 4 ¥ B B 0 0.0 BEEREEA& 0 - 0 0
: B OB B O X A 2,824| g %ﬁ%ﬁg S ) 7% 49200008 B © x 3 B 0 0.0 0.0 ofs 71 1 78 = M & 0 - 0 0
]
> — % 72D DR R B AR H 120,130 g 4 —_— B\ a 8% 2,100,000|H 5] B 125,028 5.6 A03
PR — A 1D RBUIN AR m 89,459 1.0f% 9% 3,600,000\AR# T B B B 124,018 5.6 A0.3
R wmms— A uromixme H 31 BABIE 8.4 & B 2,228,989 100.0 A1.6 1,605,602 37,870 =y B 16,717,891 100.0 1,361,179 9,723,009
2 BURBRE — NS T-0IRBRAG T B M 486,422 B & & E 8 1.4 - X 5 HERBY BMREL 4 # | H K F K X = 13.81,720.00 wE oE R = <20.0>
o mOEr AT B & B 99.4 10.0 98.2 bl g e S A S = 18.81,730.00 | x 3¢ 4 32 mx T K 8 FF 3¢ - <20.0>
5 AT AR B 99.5 15.1 98.7 EEAMEEBE KL X 9.2 25.0 /35.0 gﬁ*E”ﬁg* B B % - <20.0>
® PiEERES  99.0 6.9 97.1 ok A # b o= - 350.0,/ — A = <20.0>




